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QUESTION 1

What is the notation for a provided interface? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: A 

 

QUESTION 2

What are the possible relationships among use cases in UML 2.0? (Choose two) 

A.  

B.  

C.  

D.  

E.  

F.  

Correct Answer: BD 
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QUESTION 3

What is true of primitive types in UML 2.0? (Choose two) 

A. are decomposable 

B. are not decomposable C. specify all the necessary metaclasses 

D. specify only those metaclasses needed for a particular model 

E. specify predefined data types without any relevant structure 

Correct Answer: BE 

 

QUESTION 4

What is the purpose of general ordering in a UML 2.0 interaction diagram? 

A. mechanism to provide partial ordering of event occurrences 

B. principle of how to order the lifelines within a sequence diagram 

C. construct showing the order of messages in a communication diagram 

D. construct to define the generalization relationship between different interactions 

Correct Answer: A 

 

QUESTION 5

In the exhibit, which actors are involved in Use Case E? 

A. Actor Z 

B. Actor X and Actor Z 
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C. Actor Y and Actor Z 

D. Actor X, Actor Y, and Actor Z 

Correct Answer: B 
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